

Article ID: 1006-8341(2009)03-0295-04

Hybrid mean value on some Smarandache functions

ZHUMin-hui

(School of Science, Xi'an Polytechnic University, Xi'an 710048, China)

Abstract The mean value properties of the Smarandache function acting on k th roots sequences is studied by using the elementary method, an interesting asymptotic formula is obtained.

Key words smarandache function, k th roots, mean value

CLC number O156.4 **Document code** A

1 Introduction and conclusion

For any positive integer n , the Smarandache function $Sd(n)$ is defined as following

$$Sd(n) = \min\{m \mid m \in \mathbb{N}, n \mid m!\},$$

Where $m! = 2 \cdot 4 \cdot 6 \cdot \dots \cdot m$, if m is an even; $m! = 1 \cdot 3 \cdot 5 \cdot \dots \cdot m$, if m is an odd. The other function $a_k(n)$ is denoted the integer part of k th root of n . That is $a_k(n) = \lfloor n^{1/k} \rfloor$, where $\lfloor x \rfloor$ is the greatest integer less than or equal to real number x .

These two function were both proposed by Professor F. Smarandache in reference [1], where he asked us to study the properties of these function.

About the relations between the sequence and the Smarandache function, it seems that none had studied it at least we have not seen any related papers before. However, about the properties of $Sd(n)$ and $a_k(n)$, many scholars showed great interest in reference [2-5].

In this paper, we study the hybrid mean value properties of the Smarandache function acting on the k th roots sequences, and give an interesting asymptotic formula. That is we shall prove the following conclusion.

Theorem 1 For any real number $x \geq 2$, we have the asymptotic formula

$$\sum_{k \leq x} Sd(a_k(n)) = \frac{7\pi^2}{12(k+1)} \frac{x^{(k+1)/k}}{\ln x} + O\left(\frac{x^{(k+1)/k}}{\ln^2 x}\right).$$

2 Some Lemmas

To complete the proof of the theorem, we need the following two simple Lemmas:

Lemma 1 If $2 \nmid n$ and $n = p_1 \cdot p_2 \cdot \dots \cdot p_k$ is the factorization of n where

Received date: 2009-01-08

Foundation item: Supported by the SF of Education Department of Shaanxi Province (07JK267), the Funding of Xi'an Polytechnic University (09XG27)

Biography: ZHUMin-hui (1977-), female, a native of Fuping county, Shaanxi province, lecture of Xi'an Polytechnic University. E-mail: xiao.zhu123@sohu.com

p_1, p_2, \dots, p_k are distinct odd primes and $\alpha_1, \alpha_2, \dots, \alpha_k$ are positive integers, then

$$Sd f(n) = \max(S(p_1^{\alpha_1}), S(p_2^{\alpha_2}), \dots, S(p_k^{\alpha_k})).$$

Proof Let $m_i = Sd f(p_i^{\alpha_i})$ for $i = 1, 2, \dots, k$. Then we get $2 \nmid m_i (i = 1, 2, \dots, k)$ and $p_i^{\alpha_i} | (m_i)!!$, $i = 1, 2, \dots, k$. Let $m = \max(m_1, m_2, \dots, m_k)$. Then we have $(m_i)!! | m!!$, $i = 1, 2, \dots, k$. Thus we get $p_i^{\alpha_i} | m!!$, $i = 1, 2, \dots, k$.

Notice that p_1, p_2, \dots, p_k are distinct odd primes. We have $\gcd(p_i, p_j) = 1, 1 \leq i < j \leq k$. Therefore we obtain $n | m!!$. It implies that $Sd f(n) \leq m$.

On the other hand, by the definition of m , if $Sd f(n) < m$, then there exists a prime power $p_i^{\alpha_i} (1 \leq i \leq k)$ such that $p_i^{\alpha_i} | Sd f(n)!!$. We get $n | Sd f(n)!!$, a contradiction. Therefore we obtain $Sd f(n) = m$. This proves Lemma 1.

Lemma 2 For positive integer $n (2 \nmid n)$, let $n = p_1^{\alpha_1} p_2^{\alpha_2} \dots p_k^{\alpha_k}$ is the prime powers factorization of n and $P(n) = \max_{1 \leq i \leq k} \{P_i\}$. If there exists $P(n)$ satisfied with $P(n) > n$, then we have the identity $Sd f(n) = P(n)$.

Proof First we let $Sd f(n) = m$, then m is the smallest positive integer such that $n | m!!$. Now we will prove that $m = P(n)$. We assume $P(n) = p_i$. From the definition of $P(n)$ and lemma 1, we know that $Sd f(n) = \max(p_i^{2\alpha_i - 1}, p_i)$. Therefore we get

- (i) If $\alpha_i = 1$, then $Sd f(n) = p_i \geq n^2 \geq (2\alpha_i - 1)p_i$;
- (ii) If $\alpha_i \geq 2$, then $Sd f(n) = p_i > 2 \ln n^{2\alpha_i} > (2\alpha_i - 1)p_i$.

Combining (i) ~ (ii), we can easily obtain $Sd f(n) = P(n)$. This proves Lemma 2.

Lemma 3 Let $x \geq 1$ be any real number, we have the asymptotic formula

$$\sum_{n \leq x} S(n) = \frac{\pi^2}{12} \frac{x}{\ln x} + O\left(\frac{x}{\ln^2 x}\right).$$

Where $S(n) = \sum_{m|n} m$, $m \in \mathbb{N}, n | m!$.

Proof See reference [5].

Lemma 4 Let $x \geq 2$ be any real number, we have the asymptotic formula

$$\sum_{n \leq x} Sd f(n) = \frac{7\pi^2}{24} \frac{x}{\ln x} + O\left(\frac{x}{\ln^2 x}\right).$$

Proof It is clear that

$$\sum_{n \leq x} Sd f(n) = \sum_{n \leq (x-1)/2} Sd f(2^{u+1}) + \sum_{n \leq x/2} Sd f(2^u). \tag{1}$$

For the first part we let the sets A and B as following

$$A = \{2^{u+1} \mid 2^{u+1} \leq x, P(2^{u+1}) \leq \sqrt{2^{u+1}}\},$$

and

$$B = \{2^{u+1} \mid 2^{u+1} \leq x, P(2^{u+1}) > \sqrt{2^{u+1}}\}.$$

Using the Euler summation formula, we get

$$\sum_{2^{u+1} \in A} Sd f(2^{u+1}) \ll \sum_{2^{u+1} \leq x} \sqrt{2^{u+1}} \ln(2^{u+1}) \ll x^2 \ln x \tag{2}$$

Similarly from the Abel's identity^[6] and Lemma 2, we also get

$$\begin{aligned} \sum_{2^{u+1} \in B} Sd f(2^{u+1}) &= \sum_{\substack{2^{u+1} \leq x \\ P(2^{u+1}) > \sqrt{2^{u+1}}}} P(2^{u+1}) = \\ &= \sum_{2 \leq 2+1 \leq \sqrt{x}} \sum_{2 \leq 2+1 \leq \sqrt{2^{u+1}}} P + O\left(\sum_{2 \leq 2+1 \leq \sqrt{x}} \sum_{2 \leq 2+1 \leq \sqrt{2^{u+1}}}\right) = \\ &= \sum_{2 \leq 2+1 \leq \sqrt{x}} \left[\frac{x}{2+1} \pi\left(\frac{x}{2+1}\right) - (2+1)\pi(2+1) - \int_{\sqrt{x}}^{x/(2+1)} \pi(s) ds \right] + O(x^2 \ln x), \tag{3} \end{aligned}$$

where $\pi(x)$ denotes all the numbers of prime which is not exceeding x . Notice that $\pi(x) = x/\ln x + O(x/\ln^2 x)$.

and

$$\begin{aligned} & \sum_{k \leq 2+\sqrt{x}} \left[\frac{x}{2+1} \pi \left(\frac{x}{2+1} \right) - (2+1) \pi(2+1) - \int_{\sqrt{x}}^{x/(2+1)} \pi(s) ds \right] = \\ & \sum_{k \leq 2+\sqrt{x}} \left[\frac{1}{2} \frac{x^2}{(2+1)^2 \ln(xy(2+1))} - \frac{1}{2} \frac{(2+1)^2}{\ln(2+1)} + O \left(\frac{x^2}{(2+1)^2 \ln^2(xy(2+1))} \right) + \right. \\ & \left. O \left(\frac{(2+1)^2}{\ln^2(2+1)} \right) + O \left(\frac{x}{(2+1)^2 \ln(xy(2+1))} - \frac{(2+1)^2}{\ln^2(2+1)} \right) \right]. \end{aligned} \tag{4}$$

Hence

$$\begin{aligned} \sum_{k \leq 2+\sqrt{x}} \frac{x}{(2+1)^2 \ln xy(2+1)} &= \sum_{k \leq \sqrt{x-1/2}} \frac{x}{(2+1)^2 \ln xy(2+1)} = \\ & \sum_{0 \leq \alpha < (\ln x-1)/2} \frac{x}{(2+1)^2 \ln x} + O \left(\sum_{\ln x-1/2 \leq k \leq \sqrt{x-1/2}} \frac{x \ln(2+1)}{(2+1)^2 \ln^2 x} \right) = \\ & (\pi^2/8) (x/\ln x) + O(x/\ln^2 x). \end{aligned} \tag{5}$$

Combining (2), (3), (4) and (5) we obtain

$$\sum_{k \leq (x-1)/2} S(2^{u+1}) = \frac{\pi^2}{8} \frac{x}{\ln x} + O \left(\frac{x}{\ln^2 x} \right). \tag{6}$$

For the second part we notice that $2^u = 2^\alpha \eta$ where α, η are positive integers with $2 \nmid \eta$, let $S(2^u) = m \ln \{ m | 2^u | m \}$, from the definition of $Sdf(2^u)$ and Lemma 3 we have

$$\sum_{2^u \leq x} Sdf(2^u) = \sum_{\substack{2^\alpha \eta \leq x \\ 2^\alpha > \eta}} Sdf(2^\alpha \eta) \ll \sum_{\alpha \leq \ln xy} \sqrt{x} \ll \sqrt{x} \ln x, \tag{7}$$

and

$$\sum_{2^u \leq x} Sdf(2^u) = 2 \sum_{2^u \leq x} S(2^u) + O(\sqrt{x} \ln x) = \frac{\pi^2}{6} \frac{x}{\ln x} + O \left(\frac{x}{\ln^2 x} \right). \tag{8}$$

Combining (7) and (8) we obtain

$$\sum_{k \leq y/2} Sdf(2^u) = \frac{\pi^2}{6} \frac{x}{\ln x} + O \left(\frac{x}{\ln^2 x} \right). \tag{9}$$

From (1), (6) and (9) we can get the result of Lemma 4

3 Proof of the Theorem 1

For any real number $x \geq 1$, let M be a fixed positive integer such that $M^k \leq x < (M+1)^k$, from the definition of $Sdf(n)$, we have

$$\begin{aligned} \sum_{k \leq x} Sdf(a_k(n)) &= \sum_{t=1}^{M-1} \sum_{k \leq (t+1)^k} Sdf(a_k(n)) + \sum_{M^k \leq k \leq x} Sdf(a_k(n)) = \\ & \sum_{t=1}^{M-1} [(t+1)^k - t] Sdf(t) + \sum_{M^k \leq k \leq x} Sdf(M) = \sum_{t=1}^M t^{-1} Sdf(t) + O(x^{1/k}). \end{aligned}$$

Let $B(y) = \sum_{k \leq y} Sdf(n)$, by the Abel's identity and Lemma 4 we can easily deduce that

$$\begin{aligned} \sum_{t=1}^M t^{-1} Sdf(t) &= M^{k-1} B(M) - (k-1) \int_2^M y^{k-2} B(y) dy = \\ & M^{k-1} \cdot \frac{7\pi^2}{24} \frac{M}{\ln M} - (k-1) \int_2^M \frac{7\pi^2}{24} \frac{y^k}{\ln y} dy + O \left(\frac{M^{k+1}}{\ln^2 M} \right) = \\ & \frac{7\pi^2}{24} \frac{M^{k+1}}{\ln M} - \frac{k-1}{k+1} \frac{7\pi^2}{24} \frac{M^{k+1}}{\ln M} + O \left(\frac{M^{k+1}}{\ln^2 M} \right) = \\ & \frac{7\pi^2}{12(k+1)} \frac{M^{k+1}}{\ln M} + O \left(\frac{M^{k+1}}{\ln^2 M} \right). \end{aligned}$$

Therefore, we can obtain the asymptotic formula

$$\sum_{k \leq x} \text{Sdf}(a_k(n)) = \frac{7\pi^2}{12(k+1)} \frac{M^{k+1}}{\ln M} + O\left(\frac{M^{k+1}}{\ln^2 M}\right).$$

On the other hand we also have the estimate

$$0 \leq x - M^k < (M+1)^k - M^k \ll x^{k-1/k}.$$

Now combining the above we may immediately obtain the asymptotic formula

$$\sum_{k \leq x} \text{Sdf}(a_k(n)) = \frac{7\pi^2}{12(k+1)} \frac{x^{k+1/k}}{\ln x} + O\left(\frac{x^{(k+1)/k}}{\ln^2 x}\right).$$

This completes the proof of Theorem 1.

References

- [1] SMARANDACHE F. Only problem not solution[M]. Chicago: Xiquan Publishing House, 1993.
- [2] 杨倩丽, 王涛, 李海龙. Smarandache 双阶成函数性质的研究[J]. 西安工程科技学院学报, 2006, 20(4): 494-496.
- [3] 葛键. 关于 Smarandache 二重阶乘函数的值分布问题[J]. 纯粹数学与应用数学, 2008, 24(3): 473-476.
- [4] 徐哲峰. Smarandache 函数的值分布[J]. 数学学报, 2006, 49(5): 1009-1012.
- [5] LI Haihong, ZHAO Xiaoping. On the smarandache function and the k-th roots of a positive integer Q // Research On Smarandache Problems in Number Theory. Hexi's 2004, 120-121.
- [6] TOMMASO. Introduction to analytic number theory[M]. New York: Springer-Verlag, 1976, 77.

Smarandache 函数的混合均值

朱敏慧

(西安工程大学 理学院, 陕西 西安 710048)

摘要: 用初等的方法研究了 Smarandache 函数和 k 次根序列的性质, 并且得到了一个有趣的渐进公式.

关键词: Smarandache 函数; k 次根; 均值

编辑、校对: 黄燕萍

本刊加入“万方数据——数字化期刊群”的声明

为了实现科技期刊编辑、出版发行工作的电子化, 推进科技信息交流的网络化进程, 本刊现已入网“万方数据——数字化期刊群”。所以, 向本刊投稿并被录用的稿件文章, 将由编辑部统一纳入“万方数据——数字化期刊群”, 进入因特网提供信息服务。凡有不同意见者, 请来函告知, 本刊将作适当处理。本刊所付稿酬包含刊物内容上网服务报酬, 不再另付。

“万方数据——数字化期刊群”是国家“九·五”重点科技攻关项目。本刊全文内容按照统一格式制作。读者可上网查询浏览本刊内容, 并征订本刊。

《西安工程科技学院学报》编辑部

2009年 9月 30日